


Questions 1 to 6 carries 1 score. Answer any 5 questions. 5x1=95)

1. The period symbol used in ‘struct" is represented by
Variable that can hold the address of a memory location is called
The individual instances of a class is called
4. Visiting each and every elements of a data structure is called
5. The address contained in a node of a linked list is called
6. Expand TCP/IP.

Questions 7 to 18 carries 2 scores. Answer any 9 questions : (9x2=18)

7. Explain the use of ‘dereference operator’ used in pointers.

8. Write the use of ‘new’ and ‘delete” operators.

9. Write the only two relational operators supported in pointers.
10. Write the general form (;f a class.

1. How data abstraction separates interface and implementation ?

12. ‘Deﬁne inheritance.

13.  What is data structure 7
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14.

15.

16.

17.

19.

23.

24.

25

Implementing a stack using linked list is more preferred than implementing the same

stack using array. Why ?

What is the exact requirement of circular queue ?

What is the role of web server ?

Describe about two types of scripting.

Write a short note about CSS.

Questions 19 to 30 carries 3 scores. Answer any 9 questions : 9Ix3=27)

Compare Array and Structure in table form.

Describe the two types of memory allocation techniques.
What are the advantages of character pointer ?

Explain about arrow operator.

What are the advantages of Object Oriented Programming ?

Explain polymorphism. Describe about its types.

Compare stack and Queue.
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26." Draw the classification diagram of Data Structures.
27 Wﬁte the reason behind overflow and underflow in a stack.
28.  Compare static and dynamic webpages.
29. How DNS resolves IP address ?
30. Explain about communication on the web.
Questions 31 to 33 carries 5 scores. Answer any 2 questions : 2x5=10)

31- (@) Define a structure “date’ to hold day, month & vear. 1

(b) Define another structure ‘studata’ to hold student name {maximum 10 characters)

and date of birth. 2

(¢) Write an example of self-referential structures. 2

32. (a) Write the algorithm for POP operation. ' 2
(b) Write the algorithm to delete an element form Queue. 2

(¢) Write a C++ function for anyone of above operations. 1

33, (a) Write the names of two protocols associated with email. Cos 1
(b) Write the difference between programming languages and scripting languages. 2

(c) Write the basic structure of HTML document. 2

SFE 30 6



26.

27.

28.

29.

30.

31.

32

33.

OO (T2 I0}BB)OS Do BATIOBOS Al SSMBISHIAN afl(@o QIOSE).

80) Qoo doaideago, @RMEBGAQO FIAUWOS SHOVEMEIBUB f)#))c.

aRodlss, HeawMmIAls;’ HAlMitaIR)HOS MOmA o 61105

DNS agerlom IP araumieeion agamicajoym; ?

samilad msaem arwealaiawsmad allvdlaolends.

31 aymad 33 aleoEs cansyenglod O®BIENS 2 af)qPOTIA QOMOBAE)Tc.

5 apod allw. (2 x5=10)

(a) ;day, month, year gpas 206 s)M ‘date” ayam (RD2iB ARG Nae)s. 1

®) student name (@Y ®0HA QI60), date of birth EDOISS BOQID] (TP D

B)S1 af)91®)e. 2
(c) Self-referential structure M DBANDEMODP)®)E. 2
(a) POP 609{G0n6G3 BRAIENITIDo ag) 9B 2
(b) @yalee &) agef saaglem adlellg’ eaigomes araienodimo )91, 2
() odon apgooslen. @eicnodlmosieang C++ function ageim). 1
(a) eeraiennowi SUMLOQS BEME B (AIOCFOCHIBHUD aB ? 1

(®)  Glawonles oaums)o (laifleod’ @ontiangio manlenss alePavend agar 2 2

(¢) o) HTML eawos 920G O3 AVOROMYB)alo af)e)m). 2

SFE 30 7



	1
	2
	3
	4
	5
	6
	7

